SOLUCIONS

-
Calcula mentalment:
213+ 11 =224 456 + 11 =467
1.237+11=1.248 34810+ 11 = 34.281
6.835+ 11 =6.846 12946 + 11 =12.957
581 +11=592 49 +11 =60
92+11 =103 582+ 11 =593
950+ 11 =961 6.387 +11 =6.398
Calcula mentalment:
739+ 21 =760 591 +41 =632
5.031 +31=5.062 1.740 + 51 =1.791
67 +71=138 2.593+21=2.614
784 + 61 = 845 56.782 + 41 = 56.823
2.754 +11=2.765 480 + 21 =501
14 +81=95 2.856 + 31 = 2.887
Calcula el factor que falta:
457 + 11 =468 23+51 =74
3.712+ 31 =3.743 3.456.721 + 41 = 3.456.762
845 + 21 = 866 456 + 41 = 497
9.456 + 41 = 9.497 1.285+ 11 =1.296
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